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1. Determine the tension in the cable and the horizontal and vertical components of reaction of the pin A

shown. The pulley at D is frictionless and the loads Wg and W weigh 100N and 200N,
respectively. (20%)

2. The anemometer measures the speed of the wind due to the rotation of the three cups shown. Leta
wind gust cause the cups to have an angular velocity of o = (3t + 2) rad/sec, where t is in seconds,
during a 3-second time period.

(a) Determine the angular acceleration of the cups when t = 2 sec. (10%)
(b) Determine the total distance traveled by each cup during the 3-second time period. (10%)
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